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sum :=0;
fori:=1to 3 do

for j:=i downto 1 do
sum:=sum-+i*j;
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ReadIn(a,b);ReadIn(b,a);ReadIn(c,b);
a=5,b=8,c=7 .¥ a=4,b=9,c=8 .Y a=3,b=4,c=6 .Y a=1,b=2,c=7 .\

fuis (G JL"“" ‘) abisl> }‘ b L‘:S-“’.“ ») 6"”):‘:-""""‘ -f
Byte : a,b,c;
Word : d,e,f;
Double : g,h,i;
Real : j,k,l;
Extended : m,n,o0;
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True -¥ Var .Y printf .Y float .\
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write(x:5:2);
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16Byte =128bit -¥ 2°Byte =1GB ¥ 2°KB=1MB " 2'°Byte =1KB -\
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Do g0l b iy Paskal aals’ 5 jeiws g1yl 5oz e

fori:=-1to 5do
for j:=i+1 to 5 do;

Writeln('Paskal');
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ReadIn(a,b);
While(a mod b)<>0 do
Begin
c:=amod b;
a:=b;
b:=c;
end;
writeln(b);
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t=6-4/2*2+9mod(8/2);
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n:=2;
while n<10 do
begin
n:=n*2+2;
if n=6 or n=8 then

begin
n=n*5;
n:=(n/2)+5;
end;
end;
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a :arrayla.c] of char .Y a :array[-10.30] of char .\
a :array[0..30] of integer . ¥ a :array['a'.'c'] of integer .v
Tail0,5 00 1y g lhel due SO Hlie] Caonnd oy @algi 31 Saolas —10
Frac .¥ Pred .Y Exp .¥ Abs A
var
y:integer;
begin
y:=pred(sqr(Round(19.61)mod6));
end;
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s:='Paskal Exam';
p:='"My Exam’;
sl:=concat(copy(concat(s,p),11,2),s);

Paskal Exam .¥ My Exam .Y MyPaskal Exam .Y MyPaskal .\

A dlgS Az ) Wl ygiwd Iy 3w P2 e Hlude —1A
pl:='Payamenoor University';
p2:=insert(delete(p1,11,10),'Book’,10);
University Book .Y Payamenoor University .9
PyamenoorBook - ¥ Book Payamenoor - Y
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Type
a=1..8;
Type
b=set of a;
Var
c:b;
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a:set of byte; ¥ aset of 1..300; ¥ a:set of 6..0; ¥ a:set of string; -
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Type grade(A,B,C,D,E,F,G);
Var
i: integer;
i:=ord(C)+ord(pred(F))+ord(succ(D));
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Type
r=record
A,B,C:Real;
D,E,F:String[20];
g:Array[1..10]of integer;
end;
var
X:r;
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const
m=20;
var
a:text;
i,j:integer;
begin
assign(a,'a.txt');
rewrite(a);
for i:=1 to m do begin
for j:=1tom do
write(a,i*j:5);
writeln(a);
end;
close(a);
end.
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append . ¥ turncate .Y flush .Y seek .\
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function p(a:integer):integer;
begin
if a=1 then
p:=1;
else

p:=a*p(a-1);
end;
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